Honors Advanced Algebra
Transformations of Polynomials, WS 2

1,

R Name

Use the polynomial £(x) = —2x3 + 5x to perform the following transformations to find a new

pelynomial. Then, describe ations.
a. g0 =~f(x) l 2% - ng reflect over x-axis

_ 3 - 5\) ' :
b. h(x) = f(x —3) ~2(Y.-5\) £5{x ,
(3 + 352 (-3) + 3%(-3.;‘}2-& (w_z;‘f\) +SX-IS |
-2(x3~9x*F+23x “22}3 +SX-15 t2x3+l‘2;)<7‘-qqx 1—?{
=ZX3EIgX*-SHx +SH S-S
s hocizodal sheek
c. mx)=3f(x)+ ZL‘%("?'X -\'SX\ + 2 rlgl/\t 3
- [Dx?n riox + 2 ' ,
&retinloy 3

verrica shafy Upl
d zx)=—fx+1)-4

w(-Z(x*ﬂE’JrS(‘;H'm'H |
~(~2(x3+3x*43x #1) + Sx+S) -4
~ (~2X3 = EX* ~bX"Z +SX+ §) Y

~ (23~ X P-x + 3) ~ H
2%x3 1 ox*4x -3 -4
Ex3+bx2+x—?f |
teflect ovee x-anis, Shift et |

2. P(x) has the following characteristics. Fill out the missing characteristics. Use these to find the new <Ly #4+ down 4
characteristics after P(x) has been transformed. (Hint: it might help to sketch a rough graph)
Leading -1 Absolute Maximum (-1.3,15.3)

Coefficient

Degree 6 Relative Maximum 1 (5, 0)

Domain N ‘ Absolute Minimum NdNne g

Range (- oo |5 3] Relative Minimum (3.2,-57.2)

X-Intercepts | {-2,0) {1, 0) (5,0)muit.2 . Intervals of Increase {- 0‘:"\-"‘-5) (2.2 T

Y-Intercepts (0, #10) ‘ Intervals of Decrease e 1o o

End Behavior |AS x-» -2, P(x}~> oo ( -3 ;}"i} Ly W‘)
N x>0, Py} = -0 '

7@ =-r@  Moliply Al y-valoes by -

Leading Absclute Maximum

Coefficient . ( nohe’

Degree (o Relative Maximum (2.2, 5F.2%

Domain i’y ] , Absolute Minirhum (-1.3,-15.3)

Range 5.2, 00) Relative Minimum (S, 0) i ervole

X-Intercepts | {=2,0) (1,0 {S,0)ewit. 2 | Intervals of Increase {-13,3.20(8,00) gl tdned

Y-Intercepts | {3, =I1D) ' Intervals of Decrease | (~a0,-1-3)(3-2,5) Letn

End Behavior [Rg ‘x ~» =&, TLA -2 00 ! o Vel
Be x—=>00 T{:) > 69 ongy i



b. H(lx) = P(x)l‘— 4

sOrrack 4 from all g—va\ueg

Leadin Absolute Maxi : '

Coefﬁcgient - e (“LSJ ‘LS)
Degree L, Relative Maximum (5 -4)

Domain . Absolute Minimum NOAL

Range (-0 nzg] Relative Minimum (2.2 -061.2)
X-intercepts COn't e Aetecanecdd | Intervals of Increase (<00 -13) (3.2.9)
Y-Intercepts (D, (QB Intervals of Decrease (- |_5;3,2‘) (5} F)}

End Behavior

RS X -00 B{x) ® -0

As X >0 H{x) =%

¢. M(x) = P(x — 5) F\S\(\,‘\.}}E‘\\}& S vignt - add S Yo all x-valocs |

Leading ~ | Absolute Maximum (33.15.2)
Coefficient 1 !

Degree b Relative Maximum - (10, D)
Domain 'y Absolute Minimum None.

Range (-0, 5] Relative Minimum (3. 2,-5%. 2)

X-Intercepts

(3.0) I(o 0Y (ID,05not.2

Intervals of Increase

(-®,2.9) (8.2,10)

Y-Intercepts

Con't be deternained

End Behavior

PG X 2~ 83, Mixy > ~ 0

AL xR M)~

Intervals of Decrease

(33,82 (i0,00)

d. J(x) =2P() \Y\D\*\p\&d A\ \5 valoes by

(13,306)

Leading ___ ?_ Absolute Maximum

Coefficient

Degree Relative Maximum (5.0)

Domain ﬂ’\ Absolute Minimum NoA<

Range (-3.30-b | Relative Minimum (3. 2 —4.4) .
X-Intercepts | (-2, 0} 1, O) (s ., OSM)H 7 | Intervals of Increase (-0 —l ) {(32.5)
Y-Intercepts (D 20) Intervals of Decrease C"' 3, 3 2\ (,‘0 m‘)

End Behavior

RS X =00, Q00 200

As X R e

. W= 300 + 2 w\o\\\p\% o\ - valoes b%

G\nd add ).

Leading ~ 2 Absolute Maximum (-1.3, L{‘:} D
Coefficient ‘

Degree [ Relative Maximum (5 23
Domain '8 Absolute Minimum NHne

Range (-00 43.9] Relative Minimum (3.2 -1LA.L)

X-Intercepts

can't be detecrmined

Intervals of increase

(-=,-1-2 (3.2,9)

Y-Intercepts

End Behavior

(O 27)
AS x——) @, W) = -0
RS x-» 00 13[x) =00

Intervals of Decrease

(-1:3,3.2) (5 20)




